
�����������	
�	���
����

��������	
����

�����
���	����	����
�
�
�

����
������

������
�


����	
���

���
�����������
��	
�
���

�

�
����
��
���	������

���

������
	�����

����� ��
�
����
�����

���	������� ����� !∀�!#�∃%���&
��
�∋

����������

� �

�

��

�

��

�

�

�

�

�

���
��	������� (�)∗���∀��+,��−�,���∀�

�
�	������� ������,���

�  �������� .	��
��
���������
������

�
�������	������� )#�∀�/�∃∗�0(∋�!���#�/�∃
�	����∋�−�) ���/

!�
�
 ��	������� 1��
���� �/���

∀������	#���� ������
	�����

��
����	���	∃���
���� 2
��
���%�
3 �
���4
���
�����������4
�������4
5�����&
�	����
�������	���
�����

��&�
����
��
���%�
�

∗%������3 ����&
��
6
�����&
�	�4���
���
5�����&
�	����
��������������&��������

������	
�
�

0�4	�3 ����

������������4��%���4	��

(�%����3 �����
��
��
�

����&���������
�����
���	�%���	����
��	
����
������

7
��������������� �8 

                                                l  ����������	
���
����	
�����
�
�	����������
�	
�����	�
�����	��������	��������
																					l  ��
���	
�����
�
																	l		���	����
���	
�
��
��					  

��������

�	
��
��������������������

����������� !�∀���������������#���∃�!

∀����������%��%!�&�∋�(������)

���∗∗����

�	
��
��������������������


∃�+�,�����−����∃+��#���∃�!��.�������/!

�0�
∃�+�,�����−�!���∋�∃�1.���%���!�&�∋�(������)

������2������%�0��%��

/�������2������%�0��%��

��,�34��)+�)�5

∋∋∋)4��)+�)�5



���������	���
�����


�
�
��������������

���������	�
�	����
��	
��	����������	���
	�
�	��������	���������	
��	��	
�����	���
	�����
����	�
���	
�
��
����	

��������	�
��������	����
��	
�	�
�	�����	��	������
����	
��	���
���	�������
���	����
���	���
	�

�	�����	��	

��������	���	���
������	�
����
��	�����
����	���
�	������
�����	

������
�	���������	
	��
��	
�����	��	��

���	� �!	∀	���#	��	���������	

�����������	��	��������
��	����������	
��	�������	��	�
�	���������	

�	��
�����������������

���������	�
�	����
��	
��	����������	���
	�
�	��������	���������	
��	��	
�����	���
	�����
����	�
���	
�
��
����	

��������	�
��������	����
��	
�	�
�	�����	��	������
����	

��	����
����	��	��
��	����������	����
���	���
	�

�	�����	

��	��������	���	���
������	�
����
��	�����
����	���
�	������
�����	

��������
����
���	������������� ��!∀

∃����	���	%&∋�∋(∋(�	)∋∗+∋,−./ 0%�	123+43	��5�����	���	%&∋�∋( 6�	7
�	����
����	��	∋�6	���	��	���
��	����
���	


�������	������	���	�
�	���
����
����	��	��������	��	+�2��	/�	����
�	���	�6	�
����
�	�
�	����	����������	�����	


����	6�(	∀#�

�
#�

8	�

���	����
���	�
�����	��
9	��	��������	�∗!�.	∀#�	/����	��	�
�	
������	��	���������	�
����
��	���	����
����	

�
����
����	�������	��	��	
������	�

�	
��	��
9�	

��	�
�	�
��	��������	���������	:
���	���������	�
�	����������	��	


�
�����	������	
	�

��
�����
�	��	�����
����	���
���	��	

��	����	
�
����	����	�
���

 ������	��∃�	�����

∃����� )	&%�6(�	+	.�!∋�	−	 �.∗�	/	,�.,	∀

)∋∗+∋&−./ 0%� ��5������ )	&%�%∋�	+	.�.,�	−	 � .�	/	,�,,	∀

7
�	�������
�	
�
�����	�
��	���
��	�����
���	
�������	������	���	���
����
���	�
�	�������
�	������
	������	7
�	

�������	�
�	
���	��	�
9��	��	�����	�
�	
������	��	��������
��	5�
�������	��	�
���	��	�����
���	�
���	��
��
	

��	���	

����	�����
���	������	���	���
���	��	�
����	��;�	�����
�����#�

7
�	
�
��
���	5�
�����	��	������<����
������	�
����
�	��	
��
��	��
���	
��	�
��	������	�
�	������	
��	����	��	
�
�����
�	�
�
	

�
��
	�
�	��	���
�����	7
��	)�������
��	��	���������	��	�����������	����
�	���	���	��	
�
�����
�	�
������	�
�	
��	��
����	��	�
�	

���	��	������<����
������	�
����
���	)�����	�
����
��	�����	����
��	
��
��	������	��	������
�	��������	
��=��	�
����	
��	��	

����	���	��	���	�
�	���������	������	�
���	������	�
�
��	�

�	�
�	�
�	+>�)	�������	7
��	��������	��	��������	���	���	
�	
�	


�
�����
�	���������	�
����
�	
��	��	��	���	���	
��
�	
��������
�����	����������	
��	�
���	���
	���
����	�������
�������	������	

��
������	����������

7
�	��<����	�
��	��	
�������	����	����������	�
����	���
	�
�	�
����
�	��	�
�	�
���
����	
��=��	��	����
���	��	��	���	��������	��	

�������	����
�	����
��	�������	���
���	��	�
�	��
��	
�����	��	�
����
�	
�
��
����

 =(



 

1122334455667788991010111112121313

NH 

1.0 H 

CH 

1.0 H 

2xCH 

2.0 H 

Residual 

CH 

CH 

1.0 H 

CH2+ethanol 

2.2 H 

HOD 

+CH 

CH2+ 

CH 

3.0 H 

NMR 

Solvent 

CH3 

3.0 H 

CH2 

2.0 H 

ethanol 

2.8 % w/w 

ethanol 

� �

�

��

�

��

�

�

�

�

��������	
���
��������

�
�����������	��
�����������������	 !∀����
��# !�

�∃%



 

252550507575100100125125150150175175200200

ethanol 
2xCD 

CH 

CH 
CH 

C 

2xCD 

2xC 2xC=O 

C 

CH 

NMR 

Solvent 

CH2 

CH3 

2xCH2 

ethanol 

CH2 

� �

�

��

�

��

�

�

�

�

��������	
���
��������

��
�������������	��
���������� ���!��	�∀#����
��∃�∀�



���


